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Write shart answers 0 any S1X parts. E.;.pg;%lzqgﬂf
Define pure quadratic equation i‘,{-.-'_,-"'nf.n.hl.q.f.u {i)
Sodve by factorization: kL =20 =1 ex-20-0 S G
Find the nature of roots of the cquation %° - 5%+ 5=0, _#_rﬁr..li;f._,njw: Wl _Sx e 5=0 Sdde (i)
e 0=do=d'y aelnd (v

-g’.{,‘ﬂ”.;-édrniiﬁz Rt Pl x4 pr+g=Dait-Boa i W

If o, P arethe roots of the oquation j;z + pX +|;|=I:|.1|I.'::1 evaluale |:1 l-ﬂ.z.

(xF TN rix e ) szl Faed L nZ O ()
Use synthetic division to find the quotient and remainder when e TR =D+ +1)

if 3085 =30 =25 =¥ find the ratio x : y G oy el PRI = =Ty N iy
| =

AT and A =2 whent =3, find r when A = 72. A= TR ettt ﬁ-i‘.nll""':":"rl_'ﬂ_-' {viii)
Find a fourth proporticnal io 5 8, 15 5.8.13 e B3 (in)
Write short answers (o any 51X parts, -E.:.;w".{:-m;n..&i’
Defire impraper fraction. _.ﬁi_-..*lﬂ ':"EI'.J'-? (i)
1 . S -

el W e 3 1 . ; X =x 4n+] [

Resolve the fraction = 7T P it propes lraction. _éiﬂff,ﬂrﬂ, _Hr;.ﬁ L

Define binary relntion AT i
e YUXIyeq2,0,5,9)%=¢1,4,7,9150 (v
BEX=01.4,7T 92)and¥ = (2, 4,59} iben find ¥LIX.

LA AL Y =X KeY iy =(d e} X={a,b.e} (W)
WX=f{a.b.cimd¥ ={d, e} then find ihe rumber of clementsin X=Y and ¥ 2 X

L b e B (3= b= 1) = (=T, 245D

ifil-I bhel)=(a=",2Zka%) then find ihc value of g and b,

Drefine arithanetic nean, ;..{..Ef;ij‘hiﬂl.-ﬂ' [vii)

Find range for the following weights of the students: = iz e L e iy
PO, 0%, B8 RS TV 0 04 07 40 59 103 &2

Find hanmonic mean for the dita | X [mr] s | __I__l 4 J Ll BTE )

Write short answers (o any SIX parts, -En;uﬂlequf

Provethat:  cos’ 8- sin® 0= cos® 0 —sin® 0 costB-gntO=coslo-unlo Faop )

T b Eiind S L 28 b ieso S iy i)
What is pdinn eeasiane of the central anghe of oo are 50m beng en the Gircls of radiis 25m?

Express 1007 angle into radian, S g LA 3000 (il

Ceidde )
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Dagfire acuie angle.

AL ke (W)

What is meant by chord of 8 circle? ealsle Al i ()

Diefine secant Al
What is meart by segment of & clrcle? T sl eblen il (i)
Diefine circum angle. -ﬁ'—&fﬂ;-lhfu (wiki)
Dafire diameter of o cincle, _ﬁ_eﬁ;ﬁiﬂl’ (ix)
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Part - II, Attempt any THREE questions. Each question carries 08 marks, Question No. 9 is compulsary,

Solve the equation by completing square: X =195=0 :éld"r'- ﬁfﬂahb.,fiﬁ,u (i)
et el B Iun Al A kg a0 wilaa, B (L)

I, b are the roots of the equation x? + px + ¢ =0, form equation whose roots are o2 B
- k-

b - acsod bl U k (0 b de0)ab=cid f (L)
Wa bweid , (a,b.c,dw0) by using k-method, show that z:.g: u::_g%
ial fractions: BX.+.5%2=7 b+ 537 .
Resolve into partial fractions: e s ;ﬂ_ ¥ njan-"f-;;:l— #r;.k"ir'.'.-r"'ﬂ;..’: ()
SE T C={1,5,8,10)B={l,47 10}« A={1,3,5,7,9) « U= {1,2,3,4,....10000 ()
AMBUC=(ANBLUANG
IfU={1,2,3.4 . ... 10, A={1,5,57.9.B=1{1,47, 10}, C= {1, 5, & 10} then verify that
ANMBUC) = (ANBLUANC

A Bt higL (L)
The salaries of five teachers in rupees are as follows. Determine standard deviation,
LRS00, 12400, 15000, 14500 , 14800

. sect+l _ scch+] (secB+1 _ sech+] {3
vrae tha secl=-1  tanB sech -1 tan{ -ﬁm-:{‘

UL 6 Ll Tl ol B nendiig 24 (L)
Draw two equal circles of each radius 2.4cm. I the distance between their centers is Gem, then
draw their ransverse tangents,

B Sy undofine. ot il o IS
Prove that two chords of a circle which are equidistant from the center, are congruent.
~ OR - e

U Lt SIS i IS I IS Sing T

Prove that the opposite angles of any quadrilateral inscribed in a cirele are supplementary,
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Write short answers to any SIX parts. -EJ@M.':HHH:-_J;
Salve by factorization; 1Ta? - g3 I md-3ne L Skai )
Write in standard form: :f rid t'l—q =1 - : T+ :—!a -] :Eruﬂﬂ-\.d“ljll;ﬂ‘ (i}
Find the discriminant of the quudratic equition 43° - Tx-2=0. b el3h 4?2 70 2.0 el B (i)
Evaluate: o+ %3 TRl L N ST T

"ﬁ.rp'—"-'fl.;’“:ﬁlMﬁgﬂdﬂg—ﬁg+ﬁ-ﬁélipﬁlﬂj (v}
[ i ﬁ are the roals Drﬂﬂﬁq“bﬂﬂ de—jk fE'DImE" find the value ol {52'}2

Diefine solution set of simultanecus equaticns, A e T P iy
Find a, if the ratios a + 3: 7 + 2 and 4 - § are equal. ,;,{,a-_J-" afmelrd:5 8 a+3:T+p .;,,J.J'a' {vii)

_ |
- ?-1%-@5{fﬁ“raﬂr—ﬁﬁé:‘ﬂ*’? e T UL B i} (viliy
1..-'1r—'_1| and V =3 when r = 3. Find V when 1 = 6 and r when ¥ = 120

Find a third proportional to § , 12, 6,12 eSS k)
Write short answers to any SI1X paris. _ﬂapﬂ;{rfﬂ{i—df
Define rational fraction, —iﬂ'—_-{ﬁfm {1)
. St -1 i e
Resolve into panial fractions: Tx = 4){x 3} [T_'Fﬁl:HIT}] :#J.,..l.'-"r_.r:..-.r".:f;}.’ (11)
Define difference of twa sots _ﬁ-:-.ér,;JL}ELJr':"p (i)

AUB=BUA e B=12.4.6,8): A=11,2,3.4.5.630 (v}
A= E,E.3.-1.5,ﬁ}a.mJ!El-[i,d_ﬁ-E;lu1-:|tpfu1.-nu1;|tAUEl-_I1L.l.ﬂ..

- BuA ) AxAIA=(0,2,4], B={-1.315 )
WA={0.2, 4], B={=1,3),fnd AxA nnd Bx A,

Write all the subscls of the se1  a . b I ..ij&fa'f*l}.’: ta. b} Iyi}
Write two propertics of arithmetic mean. ,ﬂ.u.l.n-*'.sl_ﬁ..aﬁ..ilu [wii)

Find the harmonic mean forthe givendata: [ X [ 12 | 5 | B | 4 | efpemafianids . i)
11500, 12400 , 15000, 14500, 14800 pdeizm _ gl Lup ¥ gL o

The salurics of five teachers in rupecs are given. Find range of data. FIS00, 12400 | 13000, 14500 , 14800

Wrile short answers to any SIX parts. - MLHHI{LI};
Write the relaticaship between radian and degres mesure, _&rﬁp_mﬂ@fi.,ﬂ;,- i}
Eind r, when £ = 56cm and 0= 459 B=d5" o £=Stem BL I i)
Canvent (32.25F 10 0°, M, 5 farm, AL B 0 MR S aase (i)

R L U ol R E ey BT e
Whether the triangle with sides 8o, | 5em, 1 Tem is right angled triangle?

Define circular area, -.5',1.-.5'4-"‘]_[,3:&:!}'-' [v]
(edd)
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Define tangent of a circle. /f E,O,sd} y ~ fo- 12 =l o (i)
Define circumfcrence of a circle. 75‘.'5_' _Eﬁ_ﬁ;i-}h (vii)
Define in-center of a trlangle. ST s (i)
Define perimeter. -i-.,'f_r...lfj{ir- Bl (i)

e 9 A Lt 08 L o2 fepin L e tirfe 3 (pd g3 dian.

Part - I1. Attempt any THREE questions. Each question carries 08 marks. Question No. 9 is compulsory.

Solve the equation: (x+Dx+3)(x=5)(x-T7)=192 &L - (L)

Solve the simultancous equations: x4 2:,-1 =22 , 5x? -{-:,,r1 =29 :#JJL;E]IL-‘JLH ()

ac4ce+ea __[a-:-: 3 Eoabe 3 M kilabedefe0)ds € =8 fnldh)
bd+df +1fb | bdf : : b d ¥

If%=%= '?‘ (a,b,c,d,e,f=0) then by using k method show that: - oe + €3 ‘[ “B]

bd+df +fb  \ bdf
2 2
; 2 2 - 3x + 1 X°=3x+1 : g o)
| fi P A —La LN K ! 7 :
Resolve into partial fractions {-ﬁ “Dx-2) P |]2 (x—2) »_:.{Vkl’:g;rﬁrf

AUBUC=AUBUO rfeeic=1(1,5,8 10}« B=(l,4,7, 10} « A={1,3,5,7 9} (L)
IFA={1,3,5.7,9), B={1,4,7,10}, C=(1,5, 8, 10} then verify that (AUB)UC=AUBUC)

Calculate variance for the data: 10,8,9,7,5,12,8,6,8,2 :érﬂ".:.;fﬁ&‘ﬂ:{_.: {1.,..)
g 5ecB+1 _ secO+1 secO+] _secB+l - (L)
Prove that; sec-1 ~ tanD ‘u‘rsecﬂ "1 ® tand Gt

- %UJF”J}:‘JJ;H{& .l-’li&kﬂfﬁ;ﬁulﬁ 72 ;:'r’3-5u’fb|’:-w’zqrﬁ_ﬁ|m ()
Draw two circles with radii 3.5¢m and 2em. 1f their centers are Gem apart, then draw two
transverse common tangents,

L HL,.I"LFT'H,LJHJ-'WTJ: e Z-‘.l’:..-".lnﬂg.-':ufé‘{a:#
Prove that iwo chords of a circle which are equidistant from the center are congruent,

oy . ﬂ;i:r‘fguﬂg!:pﬁaﬁlmﬁw-ﬂﬁ{_ Jfﬁéﬁcb

Prove that any two angles in the same segment of a circle are equal
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